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POLITICAL SCIENCE (In all Mediums)
Paper—Political Theory-II

Time Allowed : Three Hours] [Maximum Marks : 90

Note :— (1) Question No. 1 is compulsory. Attempt any nine out
of total fifteen questions. Each has 2 marks and the
answer should be in 10-20 words.

(2) Restofthe paper is divided into four units. Each has
two questions. Attempt any one of 18 marks each.

(3) For private and reappear candidates, who have not
been assessed earlier for internal assessment, the marks
secured by them in theory paper will proportionately
be increased to maximum marks of the paper in lieu

of internal assessment.
(Compulsory Question)
1. (@) What do you mean by Power ?
@) Write down any four characteristics of Authority.
@) Write down any four characteristics of Legitimacy.
(iv) What s participant political culture ?
(v) What is Manifest Political Socialisation ?
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(vi) What are Civil Rights ? 2
(vii) What is the Philosophy of Human Rights ? 2
(vii) Write down any four safeguards of Liberty. 2
(ix) What do you mean by Negative Aspect of Equality ? 2
(x) Write down the meaning of Legal Dimension of Justice.

2
(xi) How economic factors influence social change ? 2
(xii) Write down the methods of Direct Democracy. 2
(xiii) What is Elitist Theory of Democracy ? 2
(xiv) What do you mean by Circulation of Elite ? 2
(xv) What are the views of Marxists about the Dictatorship of
Proletariat ? 2
UNIT-
Define the concept of Power and explain its various characteristics.
6+12=18

What do you mean by Secular Political Culture ? What are the
factors helpful in the growth of Secular Political Culture ?

6+12=18
UNIT-II
“Rights and Duties are co-related”. Discuss. 18
What do you mean by Universal Declaration of Human Rights ?
What is its importance ? 6+12=18
UNIT-III
What is Liberty ? Explain in detail the different forms of Liberty.
6+12=18
What do you mean by Justice ? Discuss the various dimensions
of Justice. 6+12=18
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UNIT-1V
8. What do you mean by Social Change ? Write down the
characteristics of Social Change. 6+12=18
9. “Democracy is the best form of Government”. Do you agree

with this view point ? Give arguments. 18

("= =r=Am)
A — (1) v wen 1 3fae 21 5w 1599 F § FE Aoy
F| GOF YT @ 2 3F & 9 YAH YIA H I
10-20 13 H €|
(2) 7= IR =R et ¥ Rwle o 21 s §
A v Re e g wdw e F § 18 F I g
TH 999 FR |
(3) urzde qur Serde whendl R sifaRe geate 3 forg
A Gl A8l haT T 8, W YU A I gy
S B AR TediFd B T T AIOF & H
Hfteraw Sfel @& @1 faar <o |
(G w#)
1. () 9| & smuer Fa1 by 2 7
(i) FREw i F1% 7] P e |
(iii) dgar M F13 IR @ fofeg |
(iv) dfewell oo depla @ 8 7
(v) e aoifos GRS 97 8 7
(vi) MR R = § 7
(vil) ATE SRR 1 qelAIe w8 7
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(vii)foeret & faft off = grem SuA @ o 2 4
(ix) FAAT F THRCHS Ueq ¥ AOH ¥ AOGE F 7 2
(x) =& FEA AW A s e 2
(xi) e oRac grnioee aRad= H1 By gaIfad $id € 7

(xii) Jeuer drpaa 1 el fofeg )

(xiii)ereaa &1 g ot Rrgid @ 8 ?
(xiv) IR @t P uREERor § Sy Fur oPWE B P 2
(xv) FETT @ A qAENE B IR F Aared @ e
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g7 2
-1

e Y FFHTOT I GRAVT FY AR T8 A= ey

e HiR | 6+12=18

gAY oo Sl ¥ s Fu St B 7 g
T G B ghg H Gerd dRd HA q 8 7

‘ 6+12=18
-1
‘HRPR AR ey TB-HeGd &' | Fd dL| 18
AT ARASRT T GraNiES Do F SATIHT T AT B 7 TR
e 1 8 7 6+12=18
gfe-111
Rt w7 2 ? Rt @ fAfF =9 @ aR ¥ Rwr § amen
FE| 6+12=18
= A g Far RYE g 7 Aaw & R st wr ust
| 6+12=18
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8. @I URad= § MUl FT AU B ? gHEIeIe qRada @i

el #r fofe | 6+12=18

9. ‘TRdA §IPR 1 WO IO ®Y &1’ T AT W gRCH0T §

TeHd & ! a g 18
(daret nigee)

32 :— (1) yme 399 153t 31 % 15 yast &9 o=t & yms
aJ| TIX YAS € 2 i I 73 TIX YFS T 839
10-20 Faet &9 el

(2) =&t Yug I9 gfse &g fsnr famr 31 ¥a e
€ yas &3 a¥ 951 I9x glee &9 18 nigt @
azt ffa yms ad|

(3) yElRe m3 Innfng Yiftmraet fagst & wisfaa
g AqT 3 wigu3x gu e niftasy »iat S =ar
fézr aar|

(F=t yms)

1. (i) ®ma3t 3 3oz ot 3@ I 2
(ii) rEfadt St It g9 fenEs=t fod |
(iii) Uz it aEt T9 fermz=r foy |
(iv) yf3smait Iwstfza Afsmmarg ot T ?
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(v) heleme Iwalf3a AHTIEEeE of I ? 2
(vi) aarfga wifaas ot I6 ? 2
(vii) 1@t miftrrst @ weEERESS o 3 7 9,
(vii) fsgaet @ St g9 goftpr Qumr fsd | 2
(ix) AH&3T @ 33N ufgg 3 3gsT it s I 7 2

(x) formm @ &&aT »iem T ni9E fed | 2
(xi) nrafae ufsedss Mot ufdesss § fa? yofes s9e

Js ? 2
(xil) Y BaII9 Sort fedhort s 2
(xiii) BFII9 © wifs3 <9ar fAois of I 2 2

(xiv) ifsAT3 T9ar @ yfarvee 3 3o off I° I 2 2
(xv) AISTT" =99 € IHHST g9 HIaReemit € fewrg o

J5 ? 2
gfse-1

Aadt & o § ufesTis a9 w3 fem et fu-y feRmEsTe

T TIBE 9| 6+12=18

ToH-Tsauy IS 3 Hfgnmarg 3 3037 ot 32 J 7 UoH feauy
Frstfsa Hfsweg @ @0 9 Aofed aex of 76 ?

6+12=18

gfse-11
nrfhawm%aazeﬂﬁ—ﬁafua I5”| S99 IS 18
Wit miftarat & Feefenmua WReT 3 30T &t g1° 9 7 femet
HI33T ot T 2 ] 6+12=18
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gfse-1I
6. feaadt ot I 7 feaadt ¥ -3y qut g9 = Afg3 fenrfemr
ccll 6+12=18

7. foum 3 3037 I T 7 forw ¥ -3y nioHt 19 g9OT

CEll 6+12=18
gfee-1v

8. ANTHE €& 3 398 of 3= T ? ANTAX ufdeass emif

fermz=t fod | 6+12=18

9. Ba339 AT T HZ 3 Far gu J1 &t AT fer ferdtae 3

AfoH3 @ ? 39 fe 18
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